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Number	
  7,	
  letter	
  b	
  
	
  
The	
  diagram	
  is	
  CORRECT,	
  but	
  hard	
  to	
  read.	
  If	
  you’re	
  having	
  trouble,	
  use	
  this	
  one:	
  
	
  

	
  
Number	
  8,	
  letter	
  b	
  
	
  
On	
  the	
  ORIGINAL	
  test	
  that	
  should	
  say	
  “3x	
  –	
  y”.	
  the	
  answer	
  key	
  also	
  has	
  this	
  error.	
  The	
  explanation	
  
offered	
  by	
  the	
  Answer	
  Key	
  for	
  how	
  to	
  solve	
  this	
  equation	
  is	
  correct,	
  but	
  the	
  original	
  equation	
  should	
  
read	
  “3x	
  –	
  y”	
  in	
  both	
  places.	
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  Number	
  12	
  d,	
  where	
  it	
  says	
  "From	
  number	
  39"	
  that	
  should	
  read	
  "From	
  letter	
  c"	
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  Number	
  14	
  c,	
  where	
  it	
  says	
  "from	
  number	
  44"	
  that	
  should	
  read	
  "From	
  letter	
  a"	
  

	
  
Number	
  17	
  
The	
  graph	
  needs	
  improving.	
  The	
  point	
  (6,10)	
  isn’t	
  shown	
  on	
  the	
  given	
  graph.	
  Your	
  student’s	
  graph	
  
will	
  likely	
  look	
  like	
  this:	
  
	
  

	
  



	
  
	
  
	
  


